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П.Ы|Ш1[1ир1[Ь[П1[ «Ъпр11шш|и[ |прш1|ш1|ш11 ш1цлЬр|1 1ки1ф1|» <1щшииии1ф 

<ш1|рша|Ьтги[Э]ш1| орЫф |1 33-рг> Нпр4ш&|1 1ф1| сктф  3-рр. 1|Ьтп1[' <ш]шииии1ф 

<ш1фши|Ь1ппцэ]ш1| Ц т т  11шр |̂п Уиф итф  1ии 1ки|1ф |1 шфис|.ш1ф1| п/ш^лиГ

1 .Сщ)шитш1ф <ш1|рши|Ьтги|Э|ш1| и п ат  11а||ипш1| Нш11ш]1ф|1 ш1[ш^ш1|ги 2022

|эфи1|ш1ф г|.Ы|1лЬ р̂Ьр̂  ̂ 2-\\ |э|и[ 98-1Л прг^ ш в (ЛЬ2 1|шииирЬ[ фпфп[ип1.|Э|ги1|1|Ьр' прп2 ^шЪ 
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31юрЫ| 1 200 000

ЗОорЫф 1л Ьг\ш 1)Ш[ 1 190 000

<Ш21|ШЫ|Ш11 1 140 000

ГЭ-ьиг[Ш11шиЬрп  ̂фи^пр 

0 Ьр1|1щшдт.д|1 ^
6 140 000
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Ц.г|рштшр|1 фи р п р д. 4
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1 180 000

Ц.флпш21лшрш 1ф фирпрг}. 2 160 000

Ц-2|̂ ш тш ,̂Р^Ьрр
1ии11ш1)ШрС|.ПГ|

1 140 000



1 120 0 00

Фш1|1и1лис|.прд 1 120 0 00

Ьпыфдпр 1 120 0 00

Рш1а[пр 7 120 0 00

Ц ф рш тш р |1 рш1л[пр 4 150 000
' \

Нш1[Ь|1и1|бшр

Г(.рпцрш^шф|1 30%ф 
^шфш[
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и ^ ш и н и в р ш ф в  &шти|пг[ 
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П-рш11ш1|ш1|
рш ф ирш ртЛ р '

орЫфги[

1|ШрС|.П1| и 
^шфги(

С Ъ Т -т Г Ь Ъ С ' 53 7 270 0 0 0
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1. Ц.2|иштт^1|Ьр|1 ршвифр' 23
2. <шит|пршдп1дш1)р Ц щи^ьппвшфв р.рпдрш^шфЬро'

<шит[1д|1 шЬфиЬшйр Синигф̂ ид̂ Ь
11[1Ш1[пр1|Ьр|]

<т1ш2тпвшфЪ 
г̂ рпдрш̂ шфр 
(«  ррин!)

&ш1ш|эгн|Э]гн1|

ЗОорЬО 1 185 000
$1юрЫф тЬг[ш1|Ш[ 1 170 000
<Ш21|Ш1Х|Ш11 1 110 000
Я-Ьг[шр1|Ьии11и1|ш1| 1̂ Ь1|шф11р-11Ь|эпгфи1п 1 110 000

П-Ьс1-|1 и п р-[и фш ь[ш р 1 110 000

Кл1ршфир 2 110 000
5Ь[и1ф1|-11Ь[иш1ф1| 1 110 000
51ипЬифир 1 110 000
<и1||1̂ -с|.прдш1[шр 1 110 000
Йртлщфи. Ни1ф̂ 1 110 000 6 илфи
Ои|Ьр1тппр 1 110 000
<ил|шршршр 3 110 000
<ш1[шр1иршр|1 фп[тир|11|пг̂ 110 000 1 иЖдил!

'Т)ш1ии1| 6 1ЛШр|1ф|1 П.рПЦД|1
>шфт|

Йрпииффи. ьщс|.Ьс|.пр& 1 110 000 6 илфи
Рш1л[пр 1 110 000
еъ'ишьъс' 23 3 983 000


